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Unit 4 Assessment o

The 9raph below shows the past 9 months of
sales for the Carver Cars company.

y
Carver Cars Sales
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Using the exponential curve of best fit, what
is the best prediction of Carver Cars sales in
December?

A. $40,000
B.  $120,000

@ $170,000

D. $800,000

2. The fourth-grade class at Wilshire Elementary
School held a competition to raise money for a
class field trip. In the competition, the class was
splitinto two teams, and each student tried to
collect as many pennies as possible. At the end
of the competition, the team with the greater
average number of pennies per student wins.
The eight students on Team 1 had collected
195, 87,62, 271,103, 149, 51, and 70 pennies.
The nine students on Team 2 had collected 46,

S

429,101, 72, 33,100, 64, 58, and 125 pennies.

Which team won the competition?
Team 1
Team 2

C. The teams were tied.

D. Thereisnot enough information,
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Describing Data

34 The heights, in inches, of the players on the
Bluebirds basebal| team are:

@.A. mb‘mm‘mw‘mﬂmm‘ mm‘mo;wo‘
/70,70, 71, 73

The manager determined that the team'’s lower
Guartile height is 65 inches, the median height

is 68 inches, and the upper quartile height is 70

inches, Which box plot represents the heights of

the Bluebirds players?
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plotted the reading on the scatter plot below.

y  Measuring the
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A science class did an experiment in which groups of students weighed various volumes of water. Each group
filledone plastic beaker with a certain volume of water. Each group placed its beaker of water on a scale and

The equation of the line of best fit is y = x + 120. What does the y-intercept of this equation represent?

120 g was the mass of the beaker.
C. 120 g was the mass of the scale.

D. studenterror

120 mL was the minimum volume of water measured.

A class survey asked students how many first cousins they have. The responses are listed below.

6,2,0,9,0,6,1,4,4,5,1,3,8, 9,4,8,7

Which histogram best represents the results of the survey?

A. Frequency of Cousins
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med: 3

Two fish markets, Seashore Fish and Harbor

Haddock, compiled dot plots of the weights of

. fish they had for sale in their market on one day.
The dot plots are shown below,

. ¢ Seashore Fish Weights (in pounds)
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Which is true about the two sets of weights?

¥ The range of weights at Seashore Fish
is greater than the range of weights at
Harbor Haddock.

\.\?m median weight at Harbor Haddock

is greater than the mean weight at
Seashore Fish.

C.  The maximum weight at Seashore Fish
is greater than the maximum weight at
Harbor Haddock.

D.  The mean weight at Harbor Haddock
is greater than the median weight at
Seashore Fish.

Dupiicating any pert of this book is prohibited by law. © 2014 Triumph Learning, LLC

8.  The scatter plot below was graphed from a data

set containing five data points.
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Which is closest to the correlation coefficient of
the relationship shown in the graph?

A. -012
B. 0.03
C. 0.35

mng calleoilaion]

1 Press data and Al §
N +9T.m\ Wi+h ordenrdd
pairs

.Nsm Press 2™ data and
choose “2-Var Stats”

m.\b Scroll %Ea “o

the ° . . This 1S

Yhe COFrelanoen
CoeSFiaent.
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9.

While playing a board game that uses a spinner to determine the n

advances, Hernan and Maddy kept count of the number of times t

They made the following chart during the game.

Spin Frequency
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Which dot plot best represents the distribution of spin results during the game?
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A

-4 oe

N1 eeeceee
w1 eee
I X

a1 e

o1 eee
N-l-eeeee

Spinner Frequency

Y

[o -l i N

—\——.....U\

N e -

w-t+ o0 e

O+ 0000000
o+ e6e
~N-+—oee0ee0 o0

.;;J—oo

°°T"
4

P mEnnfine arms nart i thic hnk is minitad hy law. © 2014 Triumoh Leamina, LLC

Go On)»

wqwmmrsmsmwm.ozoumm Leaming, LLC

10.

Asmall university held elections to determine a new student body pres
Liska won the election with 212 votes. In the junior class, 72
received the most votes from voters in the senior class. Which table

ident. A total of 525 students voted.
out of 158 students voted for Funice. Mustafa
represents the data described?

mqmm:-:m:

Sophomores | 50

Juniors 46 |

Seniors 90

Total | 19

Freshmen 10 121 6 137
Sophomores 50 39 28 17
Juniors 46 40 72 158
Seniors () 12 90 13
Total 172 212 196 525
Freshmen 10 6 121 137
Sophomores 50 28 39 n7z
Juniors 46 72 40 158
Seniors 90 5 12 n3
Total 1% | (w7 )| a2 525
Freshmen 10 121 6 137
Sophomores 50 9 | 72 |7
Juniors 46 0 | 28 | (n
Seniors 90 2 | n | n3 |
Total | 196 22| n7 [ s |
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1.

Two histograms are shown below.

Histogram 1

0-10 11-20 21-30 31-40 3 50 51-60 61-70

12, Kasim and Dana both play basketball. The
league has been keeping track of the points that
individuals score during each game. In the first
eight games of the season, Kasim has scored 12,
5,8,7,14,2,3,and 5 points. Dana has scored
10,12,8,10,14,13, 8, and 13 points. Box plots
to represent their point totals are shown below.

13. In astate government, senators and representatives vo

wm voted for and 15 voted again
. “samebill Whict

ted on a bill that was proposed. Out of 50 senators,
st the bill. Among 100 representatis ves, 40 voted for and 60 voted against the
two-way relative frequency table best represents the dist ribution of votes?

Nt

Senate

Kasim’s Point Totals Representatives | 0.40 | 0.60 N\J.00 v Representatives | 0.27 | oludil;r O‘E
Total 110 | 090 [@o Total [os0] os0 [100
Histogram 2 vIDurll.
5
o\ > B -
; 02 4 : e =
3 6 8 10 12 14 16 18 20 Senate 0.97 0.40 a .
M Dana’s Point Totals Representatives | 0.23 0.10 Representatives | 0.40 0.27 0.67 _
|
o‘ i 255 r._.onm_ 0.50 0.50 Total 0.50 0.50 1.00 |
0-10 11-20 21-30 31-40 41-50 51-60 6170 ?Bl
, N e e o e e B
.,,. Which is most likely true about the data? 0 2 4 6 8 1012 14 16 18 20 -
{ 5 dot plots ar elow.
{ R:m ranges of the data sets are the same. 14.  Twodotplotsare grap
| Which data set has a greater mean absolute
{ \K The mean absolute deviation of the data deviation? B Data Set 1
J sets is the same. n\\ w "
ﬂ \ The outliers in Histogram 2 affect the A.  Dana’s Point Totals 446\(9 X - an " u & u . .
| median more than the mean. @ Kasim'’s Points Totals —‘g % 5 o o
The mean in Histogram 2 is smaller than the C. The mean absolute deviations are equal. -
inHi 7 8 9 10
< mean in Histogram 1. D. Thereis not enough information. 123 4586
Data Set 2
°
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Which of the following is most likely true about the data sets they represent?
The median of Data Set 2 is less than the median of Data Set 1.
The range of Data Set 2 is greater than the range of Data Set 1.
#?  The modes of Data Sets 1 and 2 are equal.

The mean of Data Set 2 is greater than the mean of Data Set 1.
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15.

A survey was done to S
tudy the amoynt ofm
age and the i oney that students have saved. Students were each asked theijr

nt of
money they have saved. The chart below shows the responses from the survey,

Which scatter plot best represents the data?

16.

Box plots representing Data Set T and DataSet2 17:

A community pool manager tracked air
are shown below, s -

temperature and pool attendance throughout
the summer. The results are plotted on the
scatter plot below.

Data Set 1
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Which is true about the data sets?

~ \\?1 interquartile ranges of Data Sets 1 and Based on the scatterplot, which best describes
’ ) : i i danceand .
4 2 are 30 and 50 respectively; therefore, the relationship between pool atten =
| " . A :
Students’ Savings Data Set 1 exhibits a greater spread. air temperature? ¢ o o.vs g-dﬁhﬁl
s G O o T o Qr(h
ww - The interquartile ranges of Data Sets 1 and 2 @ Increase in pool attendance is directly
m. A | Paim m are 30 and 50 respectively; therefore, Data E caused by increased air temperature.
S 2 B 'S s . .
g 15 ] @ Set 2 exhibits a greater spread. : B. Increase in air temperature is directly
? Am LR Hﬁ I . .\\ The interquartile ranges of Data Sets 1 and 2 ” caused by pool attendance.
2 4o B0z wn N 0 24 8BI0EWE 820 % it m:.Q.wo respectively; therefore, Data C. Thereisa positive correlation between
Qs Age Set1 exhibits a greater spread. pool attendance and air temperature.
\R The interquartile E:mm.m of Data Sets 1 and 2 D. There is no correlation between pool
X . . / are 60 and 70 respectively; therefore, Data ~ : attendance and air temperature.
Students Savings . Set 2 exhibits a greater spread.
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